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1. Find each of the following limits if they exist. If the limit does not exist, explain why.
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2. Find each limit if they exist. If the limit does not exist, explain why.
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[Use the squeeze theorem]

e. lim(1+cos(1]) ; lim sin x - sin x cos x =0
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Use the Squeeze Theorem to evaluate the following limits :

a. lim(M) = b. lim( %7 e sin[E)) =90
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c. lim (x“ cos (2)] =0
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Determine the horizontal asymptotes of the graph of each of the functions given below:
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Show that the cubic equation x° + x“ - x — 4 = 0 has aroot in the interval (1,2).
If flx) =x®+ x - 1, showthat f hasazerobetween x = 0 and x = 1.

Show that f{x) = x> - 15x + 1 has at least three zeros in the closed interval [-4, 4].



